

CITY OF LA VISTA
MAYOR AND CITY COUNCIL REPORT
APRIL 6, 2021 AGENDA

Subject:	Type:	Submitted By:
BID RECOMMENDATION 114 TH STREET AND GILES ROAD INTERSECTION IMPROVEMENTS	◆ RESOLUTION ORDINANCE RECEIVE/FILE	PAT DOWSE CITY ENGINEER

SYNOPSIS

A resolution has been prepared to accept the bid from Omaha Electric Service Incorporated in an amount not to exceed \$72,717.84 for the 114th Street and Giles Road Intersection Improvements project M376 (383).

FISCAL IMPACT

Funding is included in the FY 21/22 Budget.

RECOMMENDATION

Approval

BACKGROUND

On March 26, 2021, at 10:00am, bids were publicly opened for the 114th Street and Giles Intersection Improvements project referenced above. Two (2) bids were received for the project with the lowest bid being from Omaha Electric Service Incorporated of Omaha, Nebraska in the adjusted amount of \$72,717.84 which is 3.6% above the Engineers Estimate of \$70,200.00. The other bid was also above the Engineer's Estimate. Attached hereto is the bid tabulation for the project.

In review of the bids by staff, it is recommended that Omaha Electric Service Incorporated be awarded the contract in the amount not to exceed \$72,717.84. If awarded, Omaha Electric Service Inc. is to commence work in the Spring of 2021 and is to have all work completed by August 6, 2021.

RESOLUTION NO. _____

A RESOLUTION OF THE MAYOR AND CITY COUNCIL OF THE CITY OF LA VISTA, NEBRASKA, AWARDING A CONTRACT TO OMAHA ELECTRIC SERVICE INCORPORATED, OMAHA, NEBRASKA, FOR THE 114TH STREET AND GILES ROAD INTERSECTION IMPROVEMENTS PROJECT IN AN AMOUNT NOT TO EXCEED \$72,717.84.

WHEREAS, the City Council of the City of La Vista has determined that intersection improvements at 114th Street and Giles Road are necessary; and

WHEREAS, the FY21/FY22 Biennial Budget provides funding for the proposed improvements; and

WHEREAS, bids were solicited, and two bids were received; and

WHEREAS Subsection (C) (9) of Section 31.23 of the La Vista Municipal Code requires that the City Administrator secures Council approval prior to authorizing any purchase over \$5,000.00;

NOW, THEREFORE, BE IT RESOLVED, that the Mayor and City Council of La Vista, Nebraska award a contract in a form satisfactory to the City Administrator and City Attorney to Omaha Electric Service Incorporated, Omaha, Nebraska, for the 114th Street and Giles Road Intersection Improvements Project in an amount not to exceed \$72,717.84.

PASSED AND APPROVED THIS 6TH DAY OF APRIL 2021.

CITY OF LA VISTA

Douglas Kindig, Mayor

ATTEST:

Pamela A. Buethe, CMC

City Clerk

	SUBMITTED PROPOSALS & COSTS Date of Bid: March 26, 2021, 10:00am Client: City of La Vista 114th Street and Giles Road Intersection Improvements			Omaha Electric Service Inc. Omaha, NE		Vierregger Electric Omaha, NE					Sheet 1 of 2
ITEM	DESCRIPTION	APPROX. QTY.	UNIT	UNIT PRICE	ITEM TOTAL	UNIT PRICE	ITEM TOTAL	UNIT PRICE	ITEM TOTAL	UNIT PRICE	ITEM TOTAL
1	Mobilization/Demobilization	1	LS	\$6,434.89	\$6,434.89	\$528.00	\$528.00				
2	Provide Temporary Traffic Control	1	LS	\$2,012.10	\$2,012.10	\$1,960.00	\$1,960.00				
3	Install Permanent Preformed Tape Marking - Type 4, 5" White, Grooved	315	LF	\$5.77	\$1,817.55	\$5.60	\$1,764.00				
4	Install Permanent Preformed Tape Marking - Type 4, 12" White Grooved	425	LF	\$16.83	\$7,152.75	\$16.80	\$7,140.00				
5	Install Permanent Preformed Tape Marking - Type 4, 24" White Grooved	48	LF	\$34.74	\$1,667.52	\$33.60	\$1,612.80				
6	Install Permanent Preformed Marking Tape Symbol, Type Directional Arrow, White	6	EA	\$594.79	\$3,568.74	\$588.00	\$3,528.00				
7	Install Traffic Posts and Signs	1	LS	\$1,178.19	\$1,178.19	\$1,120.00	\$1,120.00				
8	Remove Marking Lines	1150	LF	\$1.17	\$1,345.50	\$1.12	\$1,288.00				
9	Remove Marking Symbol	2	EA	\$255.53	\$511.06	\$224.00	\$448.00				
10	Remove Traffic Signal Detection System - Video	1	EA	\$1,011.77	\$1,011.77	\$1,106.00	\$1,106.00				
11	Furnish and install Radar Vehicle Detection System - 3 Approach, Type Iteris Vector Radar Sensor	1	EA	\$33,884.21	\$33,884.21	\$40,310.00	\$40,310.00				
12	Furnish and Install Traffic Signal Backplate, Type TS-1RR, W/T52A Face	1	EA	\$218.56	\$218.56	\$512.00	\$512.00				
13	Remove Traffic Signal	3	EA	\$292.88	\$878.64	\$132.00	\$396.00				
14	Furnish and Install Traffic Signal, Type TS-1LFF W T/43F Face, Bkplt, Visors, LED Lamps & MA-5 MTG	2	EA	\$902.76	\$1,805.52	\$1,161.00	\$2,322.00				
15	Furnish and Install Traffic Signal, Type TS-1L W/T32 Face, Bkplt, Visors, LED Lamps & MA-5 MTG	2	EA	\$747.09	\$1,494.18	\$873.00	\$1,746.00				
16	Relocate Vehicle Priority Control System (OPTICOM)	1	EA	\$1,118.00	\$1,118.00	\$1,256.00	\$1,256.00				
17	Furnish and Install Type A Sign	8	SF	\$102.34	\$818.72	\$69.25	\$554.00				

Bid Bond, 5% of Bid, Yes or No

YES

YES

* Omaha Electric Service Inc. Bid adjusted based upon cost per unit